
SHUTTER
GUARD

ENHANCE YOUR
HOME & BUSINESS

SECURITY

SCAN ME

Installation
instructions

Brockholes Business Park,
Rock Mill Road, Holmfirth, HD9 7BN

NOTE: Your Shutter Guard should be
fitted to a solid concrete surface.

We recommend a minimum
of 100mm thickness.

www.burtonsafes.co.uk

• Power/hammer Drill
• 14mm Masonry Drill Bit
• 10.5mm hss drill bit
• 17mm spanner or socket set
• 13mm spanner or socket set
• Marker Pen

Choose which ilustration from the 
diagram below best suits your shuter 
layout

Hold the shutter mounting plate in 
position against the shutter, making 
sure the hinged anchor plate can fold 
over it leaving clearance for the 
padlock.

Mark the two holes on to the shutter 
using a marker pen

Using the 10.5mm drill bit, drill the 
holes in the shutter

Using the fixings provided, fix the 
shutter mounting plate in place on the 
shutter. Tighten with a 17mm spanner 
or socket set

Place the hinged anchor plate on the 
floor, making sure the hinge plate can 
go over the shutter plate lug. Mark the 
four holes on the floor using a marker 
pen.

Using a 14mm drill bit drill the 4 holes 
to a depth of 75mm. Clean the dust 
from the holes

Unscrew the shields from the fixings, 
insert the fixing through the anchor 
base plate and screw the shields back 
on to the fixing until the shield is 
nearly touching the underside of the 
anchor plate

Lower the shields into the drilled holes 
and gently tap down until it sits flush 
with the concrete floor

FIXING INSTRUCTIONS

To fit your Shutter Guard,
you will need the following tools:

1
2
3
4
5
6
7
8
9

10

Shutter Guard Floor Anchor Plate
Padlock Mounting Plate
Option C Mounting Plate
Option A Mounting Plate
Padlock
Ground Bolts
Coach Bolts M10 x 65
Coach Bolts M10 x 40
Washers M10
Nuts M10

Product Contents

4

V1 - P1 - 8/05/2024

STEP 1 

STEP 2

STEP 3

STEP 4

STEP 5

STEP 6

STEP 7

STEP 8

STEP 9

2 2 2 3

4

Shutter Lock - Setup options

2 2 2 3

4

Shutter Lock - Setup options

2 2 2 3

4

Shutter Lock - Setup options



SHUTTER
GUARD

1
2
3
4
5

6
7
8
9

10

Shutter Guard Floor Anchor Plate (X1)
Padlock Mounting Plate (X1)
Option C Mounting Plate (X1)
Option A Mounting Plate (X1)
Padlock (X1)

Ground Bolts (X4)
Coach Bolts M10 x 65 (X2)
Coach Bolts M10 x 40 (X2)
Washers M10 (X4)
Nuts M10 (X4)

Product Contents

ENHANCE YOUR
HOME & BUSINESS

SECURITY

SCAN ME

7

5

8

6

9

101

3

2

4

V1 - P2 - 8/05/2024


